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04 QI2SHALAIRE B &= 45,000 50,000 25,000
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23l 87,472 97,094 AN9,622
Jl=23dHl 87,472 97,094 A9,622
201 er2dl 18,778 20,864 A2,086
01 At 2t el bl 18,778 20,864 22,086
OSAMSX I(daz2) HF 2,754,000 2,754 3,060 A 306
OSZoiAldI (ol & =) 338 6,610,000& 6,610 7,344 AT34
Odt===2 (& =) 3d 1,080,000& 1,080 1,200 A 120
O4anZ TAAHI(0aE2)
d & 540,000& 540 600 A 60
OARE =&l (0&EZ) 6,876 7,640 AT64
— SA =2l (aE) 33 450,000& 450 500 A50
— ZgH el 2 & 180,000 180 200 A 20
—SAII EYH &3 900,000& 900 1,000 A 100
— ODRE(5Y) EY 2 & 3,600,000 3,600 4,000 2400
— ODelE(Zet) &Y 43 900,000& 900 1,000 A 100
—PC ==¢l 3 & 306,000 306 340 N34
— JIE =2l 43 540,000& 540 600 260
OJIet Atz (oarzE2)  2F 918,000 918 1,020 A102
202 o4l 63,342 70,380 AT7,038
01 =L 63,342 70,380 AT7,038
OoblI(olar &) 63,342 70,380 A7,038
— 2t o4 Hl 33 44,064,000 44,064 48,960 4,896
— 22/ 04 3 & 19,278,000 19,278 21,420 N2,142
203 Y=Yl 3,780 4,200 N420
04 FNE2SE 2T 3,780 4,200 N420
ORM2IIRFTHI(HLES)
2 & 3,780,000 3,780 4,200 N420
405 THatF S 372 450 AT8
01 Tt E S5 SH 372 450 AT8
Oddn FA(oarz) 33 372,000& 372 450 AT8
Heas (S (LLSSHE/MHE - S 8) 759,635 17,519 742,116
RSN 759,635 17,519 742,116
SRS 759,635 17,519 742,116
802 gtet=JIEt 759,635 17,519 742,116
01 =0ExstE=s 569,585 1,466 568,119
O 20158 & 98,382 0 98,382
— 3 A=SE=AY (01X
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— dSAME ALY SN2
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— WSEAME SPAAY 2=
4,580,000 * 14l 4,580 0 4,580
— 23 MHHEIAAL D= (AlLH U2
=) 2,080,150 * 14l 2,081 0 2,081
— 23 MHHLXAAL = (2229 &
ABX) 33,714,8008 = 14l 33,715 0 33,715
— 23 MAS LAY 21,287,0008 + 14 21,287 0 21,287
— AXNH2SHES 5,717,600 * 14l 5,718 0 5,718
— ZQ2ZX=25M ZAIQIHHX
25,689,490 * 14l 25,690 0 25,690
O 201449 & 1,555 0 1,555
— S2IAMHGEXAA D= (ALY 2
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— 2RI NEL (I ZEEHHCILEILURE
LIE&) 1,124,200 * 1Al 1,125 0 1,125
O 20139 & 245,000 0 245,000
— AUA JAYAMNDS A
245,000,0008 * 14l 245,000 0 245,000
O 2012d & 84,214 0 84,214
— Hxe=2sRR 80,388,000 * 14l 80,388 0 80,388
— EXe23 B2 (0IX)
3,825,580 * 14l 3,826 0 3,826
O 20104 & 138,968 0 138,968
— &=2=2sdoto3a 131,080,6082 * 14l 131,081 0 131,081
— &2 23EI0tTH A (0l XH)
7,886,380 * 14l 7,887 0 7,887
02 Al - SHIEZZ2ba =2 190,050 16,053 173,997
O 20154 & 16,470 0 16,470
— HEME LHAAY SIS
1,440,000 * 14l 1,440 0 1,440
— HSAME gPAAY 2=
1,374,000 * 1Al 1,374 0 1,374
— 23 MHHEIAALRE=(AlLH M2
=) 267,450 * 1Al 268 0 268
— 23 MHHLXNAAL = (2229 &
ABX) 4,334,760 * 14l 4,335 0 4,335
— SXNESIAMEB AL (L= AN THA
=) 399,0008 * 14l 399 0 399
— DXNH2HES 735,120 * 14l 736 0 736
— 23 MXZ0IZSH XK (0IXH)
8202 * 14l 1 0 1
— SXNHSIMSEZ2IH XA
211,780 * 14l 212 0 212
— EQ2X=235M 2ZAIQIHIX
7,704,940 * 1Al 7,705 0 7,705
O 20149 & 104,346 0 104,346




2N 238
B T

ool 2

SA-3H-S(3AH) - MRAS - BES Off &t 24 INEH Husz
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LIEE) 144,540 * 14l 145 0 145
— SHWHUHLXAIAHDS(ALH 2L
=) 55,2608 * 14l 56 0 56
- CUESIMELANL(MYS HA2H4 2
s2) 104,000,000 * 14! 104,000 0 104,000
- CSANHSHWELAL (e SIS
=) 145,000 * 124 145 0 145
O 2013¢ & 662 0 662
— CSXNH2EHY E2AL(LAAMH)
661,7008 * 14l 662 0 662
O 20128 & 10,828 0 10,828
- 24X e2sF2 10,335,6002 * 14l 10,336 0 10,336
— X222 (0IX) 491,860 * 14l 492 0 492
O 20108 & 41,691 0 41,691
— B223EI0tTA 39,324, 1822 * 124 39,325 0 39,325
— SH=23HHI0HIH3 (0l XH)
2,365,910 * 124 2,366 0 2,366




